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1) ROFHEZELESL, (2R X10%)

1) 3x(x+1)+(x+2)(x+3) 2) (x+7)(x—8)+(x+4)(x+2)

3) (a+5b)(a+3b)—(a—6b)(a+8b) 4) (0.5a+1)(0. 2a—4)—(a+0. 3)2

5) (x+8y)(x+6y)+(x—4y)(x—y) 6) (a+b)(a+b+2)

5 1 3 2
7 (X—g)(X—E)—(X—Z)(X—g) 8) (x+y+5)(x+y—3)

9) (2x—5)(8x—2)+(4x—1)(4x+1) 10) (x—2y)2—(x+y)(x—3y)



NTHERADER(BFRREIFH
3% —5A—38—KIg A =]
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2) ROFEZELGED, (2R X108

1) (5x+3)( %x—2)—%x(x—4) 2) (x—8)(x—4)+(x+2)(x—5)

3) (a—7)(a+7)—(a—4)(a—2) 4) (2x—y)(2x—3y)+(x+5y)(x+4y)

5) (2x+1)°+(2x—7)(3x—2) 6) (x+y—3)(x—2y+4)

7) (p+0. 50)(p+0. 29)+(0. 49+p)(0. 6a—p) 8) (a+2b+c)(a—2b+c)

9) (x—2y)(x+5y)—(x—3y)(x+6y)  10) (x—2)(x+4)+(x—3)°



NTHERADER(BFRREIFH
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3) ROEHEZELGED, (2R X108

1) %a(a—8)+( %a—S)( %a+5) 2) (x—6)(x+5)+(x+9)(x+8)

3) (x+10y)(x=5y)—(x—7y)(x=3y)  4) (x+3)°+(x+5)’

5) (2a—5b—3)(3a—4b) 6) (x+y—z)(x—y+2)

7 (x+%)(x—g)—(x—§)(x+%) 8) (2x—5)(3x—2)+(4x—1)(4x+1)

9) (Bx+2y)(4x—5y)—(x+3y)(x—8y) 10) (x—2)(x—=5)—(x+9)(x—9)
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3% —5A—38—KIE A =]
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4) ROFEZELGED, (2R X108

1) (x+10)(x—=5)+(x—2)(x—1) 2) (a—0. 8)2—(a—0. B)(a+1. 2)

3) (2x—3y—4)(2x—3y—6) 4) 0.2a(a—3)—(0. 5a+1)(0. 4a—2)

5) (x—3y)(x—2y)+(x—5y)(x—6y) 6) (3a—b—c)(2a—b—c)

2
7) (x+3)(x+H+(x+1)(x=5)  8) (x+%y)(x+%y)—(x—%y)

9) (p+2a)(q+5p)+(5q—6p)(p+3a) 10) (x—6) —(x+7)°
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5) ROFEZELLGE, (2R X108

1)

3)

5)

7

9)

—2x(x—3y)—(x+4y)(x—5y) 2) X+9Dx—6)+(x+1)(x=7)

(a+0. 1b)(a+0. 7b)—(a+0. 2b)(a+0. 4b) 4) —(a—b)(a—b—6)

(X+7y)(x—8y)+(x—9y)(x+3y) 6) (%a+b—20)(%a—b—20)

@Bx—=7)(x+8)+(x—6)(4x—5) 8) (p—7a)(p+a)+(p—5a)(p+2q)

K=DGHD == x=1)  10) —(x=By)(x+5y)—(x—4y)’
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3% -5 3@
1) AE—@E (2A%108) A =
1) 4x°+8x+6  2) x +5x—48 3) 6ab+63b

4) —0.9a°—2.4a—4.09 5) 2x°+9xy+52y° 6) a +2ab+2a+2b+b’

7 11_2X_11_2 8) x2+2xy+y2+2x+2y—15 9) 22x2—19x+9

10) —2xy+7y2

2) KRE—M@E (2R X108 A B

1 11—2x2+2x—6 2) 2x°—15x+22 3) 6a—57

4) 5x2+xy+23y2 5) 1Ox2—21x+15 6) x2—xy+x—2y2+10y—12
7) 0. 9pq+O0. 34q2 8) a’+2ac+c —4b’ 9) 8y2

10) 2x°—4x+1

3) KIE—MRE (255 108) B =
1 %az—ga—25 2) 2x°+16x+42 3) 15xy—71y"

4) 2x°+16x+34 5) 6a-—23ab—9a+12b+20b° 6) x —y 4+2yz—27

7) —%x—g 8) 22x°—19x+9 9) 11x2—2xy+14y2

10) —7x+91
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4) KE—RE (25 X10/) R B
1) 2x°+2x—48 2) —2.3a+1.24 3) 4x°—12xy+9y —20x+30y+24
2 2 2 2 2
4) 2 5) 2x —16xy+36y 6) 6a —b5ab+2bc—5ac+b +c
7) 2x> +3x+7 8) gxy+11—6y2 9) —p2—2pq+17q2
10) —26x—13
5) £IE—MRE (25 X10/) R B
2 2 2 2
1) —3x +7xy+20y 2) 2x —3x—61 3) 0.2ab—0.01b
4) —a2+2ab—b2+6a—6b 5) 2x2—7xy—83y2 6) %a2—2ac+4cz—b2

77X —12x—26 8 2p —9pa—3a  9) Tx—>

10) —2x2+8xy+9y2



